Exercise


Calculation of Price

Based on Productive Hours for a Service Business

Step 1 – Calculate your fixed costs and decide upon the level of income you require for example:-

Fixed Costs = £5,000 per annum

Income required  = £15,000 per annum

Total £20,000 per annum (ignores any variable or semi variable costs)

Step 2 – Calculate your productive hours (or the number of hours you want to work) for example:-

52 weeks x 40 hours

= 2080 hours

Less 10% contingency

=  (208) hours

Less 6 weeks x 40 hours
=  (240) hours

Total 



      1632 = maximum time available

Most service businesses productive chargeable time is 60% (after allowing time for travelling, slack periods, holidays, training and sick days).

60 x 1632 ( 100 = 980 hours

To achieve £20,000 per annum you will need to price your service at £20,000 ( 980 hours = £20.41 per hour.

Please note this is only a model example

After calculating your price per hour you should always compare this to the market or going rate.

